2010 Solutions

(K) F ucnrd ths (1/1)

There are many ways to solve this problem. One particularly short one: | and K are long enough that they
can only be "customer understood" and "customer disconnected” in some order. The first character of all
the notes is 'c', and the presence of two copies of the same character in | makes | "customer disconnected"
and K "customer understood". K has every character in "understood", reading off which gives 8 characters.
After filling these (and 'c') in where they occur, the remainder of the problem is trivial.
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